CRL ARS ALUMINUM RAILING SYSTEM FOR PICKET

* SERIES 100, 150, 200, 200X, 300, 300X, 320, 350, 400 AND 500X

* 3/4" SQUARE PICKETS

*2 3/8" SQUARE POST STD. 36" & 42", TRIMLINE POST AND HEAVY WALL POST.
* NINE STANDARD PICKETS PANEL SIZES CUSTOM PICKET PANELS ALSO AVAILABLE. &

* SEVEN STANDARD COLORS, CLEAR ANODIZED, MILL ALUMINUM AND CUSTOM

POWDER COAT COLORS AVAILABLE.

STRUCTURAL DISCLAIMER:

ALL CUSTOMERS WHO IN ANY WAY UTILIZE THIS PRODUCT
ARE SOLELY RESPONSIBLE TO CONSULT A STRUCTURAL
ENGINEER TO DETERMINE THE SUITABILITY OF THE PRODUCT
FOR THE INTENDED USE AND SITE CONDITIONS. ALL
INSTALLERS MUST BE QUALIFIED AND HAVE PROFESSIONAL
KNOWLEDGE ABOUT COMPLIANCE WITH LOCAL, STATE AND
FEDERAL REGULATIONS, SAFETY FACTORS, AND THE
APPROPRIATE CHOICE OF FIXING MATERIAL AND
PROCEDURES.

TYPICAL ARS ATTACHMENTS

2 3/8" SQ. ALUMINUM STD. POST
OR HEAVY WALL POST.
FIELD TRIM AS NEEDED

1PKT PICKETS

BRPKT BOTTOM
PICKET RAIL

RCB2 RAIL CONNECTOR
BLOCK

6" RECOMMENDED
POST EMBEDMENT

CONCRETE SLAB
4000 PSI MIN.

CONCRETE SUBSTRATE
TYPICAL CORE MOUNT DETAIL

48" TYPICAL POST SPACING

CRL PKTS241(X) (MAX 72" HORIZONTAL CAP RAIL
/ SQUARE PICKET /
[
I
O
LLl
I
= | | |
<
n'd
(@)
0
<
Q | | )Aq |
(0
< ‘ ‘ v ‘
: \
=z
<
[
w
H | | H | | N H H | |
L1 L1 I L1

pa

ra

4" SPHERE SHALL

NOT PASS THRU

TYPICAL ALUMINUM RAILING ELEVATION

1 1"=1-0"

2 3/8" SQ. ALUMINUM STD. POST
OR HEAVY WALL POST.
FIELD TRIM AS NEEDED

1PKT PICKETS

A BRPKT BOTTOM

PICKET RAIL

\*N
L~ RCB2 RAIL CONNECTOR

BLOCK

PST5 STAINLESS STEEL
STANCHION
4" EMBEDQMENT

CONCRETE SUBSTRATE TYPICAL
CORE MOUNT STANCHION DETAIL

SPACING WILL DEPEND ON MOUNTING
SUBSTRATE AND REGION OF PROJECT

SPACING WILL DEPEND ON MOUNTING
SUBSTRATE AND REGION OF PROJECT

2 3/8" SQ. ALUMINUM STD. POST

@1/4" ID SS BUTTON CAP WASHER
(2 EA))

#14 X 1" SS TEK SCREW y

(2 EA))

NOTE: DO NOT INSTALL

UNTIL POSTS AND RAILS

ARE INSTALLED AND ALIGNED

VINYL BUTTON CAP
(2 EA))

FASCIA BRACKET
(1 EA))

NOTE:
CORNER POSTS FASCIA CONNECTIONS SIMILAR

CONCRETE SUBSTRATE

TYPICAL FASCIA MOUNT DETAIL

SPACING WILL DEPEND ON MOUNTING
SUBSTRATE AND REGION OF PROJECT

OR HEAVY WALL POST.
FIELD TRIM AS NEEDED

1PKT PICKETS

3/8" x 4" SS LAG SCREW

BRPKT BOTTOM
PICKET RAIL

\\M
RCB2 RAIL CONNECTOR

BLOCK

3/8" x 3 3/4" SS WEDGE ANCHOR
(4 EA.)

NEOPRENE GASKET - OPTIONAL
(2 EA))

@3/8" ID SS BUTTON
CAP WASHER
(4 EA.)

3/8" SS HEX NUT
(4 EA.)

VINYL BUTTON CAP
(4 EA.)

VINYL BUTTON CAP
(4 EA.)

3/8" SS HEX NUT
(4 EA))

@3/8" ID SS BUTTON
CAP WASHER
(4 EA.)

#14 X 1 3/4" SS
FLAT HEAD SCREW
(6 EA.)

VINYL BUTTON CAP
(2 EA.)

(4 EA.)

@3/8" ID SS BUTTON
CAP WASHER
(4 EA.)

#14 X 1 3/4" SS
FLAT HEAD SCREW
(6 EA.)

NOTE:

CONNECTIONS SIMILAR

ARCH. REF.: N/A

BLOCK

PSTSBP STANCHION
WELDED TO
5" X §" BASE PLATE

CONCRETE SUBSTRATE TYPICAL
SURFACE MOUNT STANCHION DETAIL

TRIMLINE & 45 DEGREE CORNER PO\

SPACING WILL DEPEND ON MOUNTING
SUBSTRATE AND REGION OF PROJECT

qﬂlﬁ’ 2 3/8" SQ. ALUMINUM STD. POST
OR HEAVY WALL POST.
FIELD TRIM AS NEEDED
y 1PKT PICKETS

BRPKT BOTTOM
PICKET RAIL

\N
] ’ RCB2 RAIL CONNECTOR

NEOPRENE GASKET - OPTIONAL

3/8" x 3 3/4" SS WEDGE ANCHOR

ATTACHMENT ANCHOR WILL DEPEND

ON MOUNTING SUBSTRATE AND

INSTALLATION LOCATION

VINYL BUTTON CAP
(2 EA.)

3/8" SS HEX NUT
(4 EA))

@3/8" ID SS BUTTON
CAP WASHER
(4 EA.)

#14 X 1 3/4" SS
FLAT HEAD SCREW
(6 EA.)

NOTE:
TRIMLINE & 45 DEGREE
CONNECTIONS SIMILAR

CORNER POSTS

CONCRETE SUBSTRATE

(e

"

4

42"
STANDARD GUARDRAIL HEIGHT

EDGE OF SLAB

41/2"
RECOMMENDED

CAP RAIL

—— CRL PKTS241(X)
SQUARE PICKET

OR HEAVY WALL POST

/7 2 3/8" SQ. ALUMINUM STD POST

LINE OF MOUNTING
SUBSTRATE

TYPICAL SECTION

2

1"=1"-0" ARCH. REF.:

2 3/8" SQ. ALUMINUM STD. POST
OR HEAVY WALL POST.
FIELD TRIM AS NEEDED

1PKT PICKETS

BRPKT BOTTOM
PICKET RAIL

\N
=g RCB2 RAIL CONNECTOR BLOCK

5" X 5" BASE PLATE (1 EA.)

NEOPRENE GASKET - OPTIONAL
(1 EA.)

3/8" x 3 3/4" SS WEDGE ANCHOR
(4 EA.)

TYPICAL SURFACE MOUNT DETAIL

2 3/8" SQ. ALUMINUM STD. POST
OR HEAVY WALL POST.

WUl

(1 EA))

WOOD SUBSTRATE
TYPICAL SURFACE MOUNT DETAIL

SPACING WILL DEPEND ON MOUNTING
SUBSTRATE AND REGION OF PROJECT

FIELD TRIM AS NEEDED

1PKT PICKETS

PICKET RAIL

RCB2 RAIL CONNECTOR

BLOCK
5" X 5" BASE PLATE (1 EA.)

MIN. 3" SOLID
WOOD BLOCKING

BRPKT BOTTOM

@1/4" 1D SS BUTTON

SPACING WILL DEPEND ON MOUNTING
SUBSTRATE AND REGION OF PROJECT

CAP WASHER
(2 EA.)

#14 X 1" SS TEK SCREW

(2 EA.)

NOTE: DO NOT INSTALL

UNTIL POSTS AND RAILS

ARE INSTALLED

NEOPRENE GASKET - OPTIONAL
FASCIA BRACKET

NOTE:
CORNER POSTS FASCIA CONNECTIONS SIMILAR

VINYL BUTTON CAP

AND ALIGNED

(2 EA.)

(1 EA))

WOOD SUBSTRATE
TYPICAL FASCIA MOUNT DETAIL

2 3/8" SQ. ALUMINUM STD
OR HEAVY WALL POST.
FIELD TRIM AS NEEDED.

1PKT PICK

BLOCK

(2 EA))

(4 EA.)

(4 EA.)

VINYL
(4 EA.)

SPACING WILL DEPEND ON MOUNTING
SUBSTRATE AND REGION OF PROJECT

N/A

. POST

ETS

BRPKT BOTTOM
PICKET RAIL

RCB2 RAIL CONNECTOR

MIN. 3" SOLID
WOOD BLOCKING

NEOPRENE GASKET - OPTIONAL

@3/8" ID SS BUTTON
CAP WASHER

3/8" x 4" SS LAG SCREW

BUTTON CAP

Revisions By:

@

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897
PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

LLI
|_
w
>_
()
- O
v Z
—1
<< =
., <
% (0%
5 O 3
= D)
= Z
; >
O
= -
—1
<
Drawn By:  JRM
Date: 02/25/2020
Scale: AS NOTED
File Name:
§Y50126B Alum. Railing Picket Infil
Sheet

1.01




CRL's ARS CABLE RAILING SYSTEM TOP CAP PROFILES

13/4"

// 2" //
| |
, 1" RAIL CONNECTING
BLOCK
1V
|
o ——— 2 3/8" SQUARE STD. POST
o OR HEAVY WALL POST
|
|
B CRL PKTS241(X)
: : SQUARE PICKET
|
|
|
A
100 SERIES TOP CAP
1TR241 TOP CAP
ALUMINUM
N
©
5

320 SERIES TOP CAP
32XTR241 TOP CAP
ALUMINUM

2"

N\

13/4"

CRL PKTS241(X)
SQUARE PICKET

|
|
|
|
|
|
|
|
|
|
|
|
2

CRL RCB1
- xS

1" RAIL CONNECTING
BLOCK

—~— 2 3/8" SQUARE STD. POST
OR HEAVY WALL POST

CRL PKTS241(X)
SQUARE PICKET

~ 2 3/8" SQUARE STD. POST
OR HEAVY WALL POST

=0
150 SERIES TOP CAP 200 SERIES TOP CAP
15TR241 TOP CAP 2TR241 TOP CAP
ALUMINUM ALUMINUM
3 3/4" L
© o <
= = ®
(q\] Aﬁ 10 T
s |V |
= . ©
» | =
[ o
: : ~—— 2 3/8" SQUARE STD. POST
| OR HEAVY WALL POST
[
(.
(.
| CRL PKTS241(X)
| SQUARE PICKET
(.
(.
[
[
7
350 SERIES TOP CAP
35TR241 TOP CAP
ALUMINUM

31/2"

9/16"
11/4"
_ @\

3"

15/16"

(D‘b
o
a T _ .
= © ©
AN AN N
= R
< o |
S o 5 |
- < |
—~—— 2 3/8" SQUARE STD. POST | 5 : : S : |
OR HEAVY WALL POST : : ~—— 2 3/8" SQUARE STD. POST & o | ~—— 2 3/8" SQUARE STD. POST
o OR HEAVY WALL POST o - 2 3/8" SQUARE STD. POST | : OR HEAVY WALL POST
: : : : OR HEAVY WALL POST : |
CRL PKTS241(X) - CRL PKTS241(X) I | :
SQUARE PICKET (. SQUARE PICKET | | | CRL PKTS241(X)
| | CRL PKTS241(X) L SQUARE PICKET
- : : SQUARE PICKET L
L I L]
200X SERIES TOP CAP 300 SERIES TOP CAP 300X SERIES TOP CAP
2xTR241 TOP CAP 3TR241 TOP CAP 3XTR241 TOP CAP
ALUMINUM ALUMINUM ALUMINUM
211/16"
5"
5"
WOOD TOP RAIL
NOT BY CRL
— < ——
< @ =
B " Uy
A\
Y | | % |
| R
10 . .
| I |
| o |
| || |
| | | ~—— 2 3/8" SQUARE STD. POST
| OR HEAVY WALL POST | OR HEAVY WALL POST L
[ : : |
|
o | CRL PKTS241(X) : :
| CRL PKTS241(X) | SQUARE PICKET o
| SQUARE PICKET | L CRL PKTS241(X)
: : : : | SQUARE PICKET
|
| | |
11 I/{/l v
400 SERIES TOP CAP 500X SERIES TOP CAP WOOD TOP CAP
4TR241 TOP CAP 5XTR241 TOP CAP ALUMINUM
ALUMINUM ALUMINUM

Revisions By:

@

2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897
PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

LLI
|_
w
>_
()
- O
v Z
—1
<< =
., <
% (0%
5 O 3
= D)
= Z
; >
O
= -
—1
<
Drawn By:  JRM
Date: 02/25/2020
Scale: AS NOTED
File Name:
§Y50126B Alum. Railing Picket Infil
Sheet

2.01




SQUARE BASE PLATE

5/8" 3 3/4" 5/8"
2 3/8"
-
. - =
; i
° F Y -
N S | O
~ PN
fB N
) B7HE— 21/2" 2 1/2" 5
CLEAR HOLES CRL BP5
5" 5"x5"x3/8"
P241 - STD POST/FLANGE
(7 N\
N J i:o C“'_>
S ) ~
——— | —
3 3
&
FB1241 - 180 DEGREE FASCIA BRACKET
27/16"
- 900
z . / <
\& n -/

51/2"

FBH2241 - 90 DEGREE OUTSIDE FASCIA BRACKET

5/8" 3 3/4" 5/8"
2 3/8"
o
fre
. N
& &
= N
A
v MD—T—"—/
N 2
i 3 % o X
o) + o) e
Y & < K
T &
Y
o)
21/2" 21/2" B
(4) @7/16" — / ©
CLEAR HOLES
5"
CRL BP5
5"x5"x3/8"

PHD241 - HEAVY DUTY POST/FLANGE

2 7/76‘11

135°

{7
N

2 5/8"

oL

SQUARE BASE PLATE

FB4 - 135 DEGREE OUTSIDE FASCIA BRACKET

2 3/16"

2 7/16"
O T )
N / :
5) ~
D o
2 3/16"

FBH21241 - 90 DEGREE INSIDE FASCIA BRACKET

5/8" 3 3/4" 5/8"
11/8"
)
e
/
& P
z \V
AN
N e 7
N Y| &
= 18 e &
L0 T ™ ™
f j N o
N S D)
~ A
\
%
(4) B7/16" — 21/2" 21/2" 0
CLEAR HOLES

HPT241 - TRIMLINE POST

FBS - 135 DEGREE INSIDE FASCIA BRACKET

CRL BPH5T
TRIM-LINE 5"x5"x3/8"
SQUARE BASE PLATE

Revisions By:

C I l L ®
2503 E. Vernon Avenue, Los Angeles, C.A 90058-1897
PH (800)-421-6144 FX: 800-587-7501 www. crlaurence.com

PST5 - S/S CORE MOUNT STANCHION

11/2"

10"

O

5"
5/8" 3 3/4" 5/8"
A
v
N
N
- x
A + )
— (4]
D
\IJ
2" ?n
v
S

PST5BP - S/S SURFACE MOUNT STANCHION

Description:

CRL ARS
ALUMINUM RAILING SYSTEM

Drawn By:  JRM

Date: 02/25/2020
Scale: AS NOTED
File Name:
§Y50126B Alum. Railing Picket Infil
Sheet

2.02




	Sheets and Views
	SYS0126B_ALUM_RAILING_SYSTEM_PICKET_INFILL-1.01
	SYS0126B_ALUM_RAILING_SYSTEM_PICKET_INFILL-2.01
	SYS0126B_ALUM_RAILING_SYSTEM_PICKET_INFILL-2.02


